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QUESTION 1

Which business object performs critical validations whenever initial measurements are loaded? 

A. D1-IMDRetry 

B. D1-GenericIMDMain 

C. D1-IMDSeeder 

D. D1-IMDPreVEE 

E. D1-IMDPeriod 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_2.pdf 

(83) 

 

QUESTION 2

Which three statements are correct for Adjustment Types? (Choose three.) 

A. They can default an Adjustment Amount to adjustments. 

B. They control how adjustments appear on bills. 

C. They control whether a rate is to be called to calculate an adjustment amount. 

D. They control the valid Service Agreement Types that adjustments can be linked to. 

E. They control the valid Adjustment Profiles that adjustment types can belong to. 

Correct Answer: BCD 

 

QUESTION 3

Which three statements are true about usage subscriptions? (Choose three.) 

A. A usage subscription can have either parent or child service points. 

B. A usage subscription can be configured to include only a portion of a service point usage. 

C. A usage subscription can have many service points. 

D. Usage subscriptions are always related to an account. 

E. A usage subscription can have only one service point. 

Correct Answer: ACD 
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Reference: https://docs.oracle.com/cd/E38983_04/PDF/MDM_Configuration_Guide_v2_1_0_3.pdf (227) 

 

QUESTION 4

Which statement is true about specifications? 

A. Specifications include the inspection history of an asset. 

B. Specifications apply only to assets and not to components. 

C. Specifications can include peer specifications. 

D. A single specification can only be used on one asset. 

Correct Answer: D 

 

QUESTION 5

How many devices can be installed at a service point at an instance in time? 

A. exactly one device 

B. up to three devices 

C. one for each service type 

D. one for each measuring component 

Correct Answer: A 

Reference: https://docs.oracle.com/cd/E80256_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_0.pdf 
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